
Quiz 1 

 

 

1. (2 points)  Simplify:  2 ൅ ௫

ቀ య
ೣశభ

ቁ
 

 

 

 

2. (2 points)  Factor:  ݔସ െ ଷݔ െ  ଶݔ6

 

 

 

3. (2 points)  Match the radian measurement of the angle to its corresponding degree 

measurement. 

a. 
గ

ଶ
          30         

 

b. 
గ

଺
        135 

 

c. 
ଷగ

ସ
          60 

 

d. 
గ

ଷ
          90 

 

 

4. (4 points)  Find the 2nd derivative of  ݂ሺݔሻ ൌ arctanሺ2ݔሻ.   (Recall, that arctanሺݑሻ ൌ tanିଵሺݑሻ.) 
 

 

 

 

 

 

 

݂ᇱሺݔሻ ൌ 
 

 

 

݂ᇱᇱሺݔሻ ൌ 
   

 


